LORVEN PUBLIC SCHOOL

(Affiliated to CISCE, New Delhi)
Anekal Road, Chandapura, Bangalore - 99

Annual Exam - 2020
Class: VI

Time: 2 hrs GEOGRAPHY Marks: 80
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Fill in the blanks:- 6
The Onyx River is about km long.

Lake is the source of river Nile.

The Ocean separates Europe from North America.

Srisailam Hydroelectric Project is built over the River.

The IT industry in the USA has patrticularly flourished in Santa Clara Valley of
Northern California, is also known as the Valley.

Sea food processing is a industry.

Name the following:- 7
The highest mountain peak of Antarctica:-

The longest mountain range of Australia:-

The world’s largest inland drainage basin:-

The largest city of Australia:-

The instrument used to measure rainfall:-

The instrument that measures air pressure :-

The speed of the wind is measured by :-

Match the following: 6
Large-scale industry Paper

Small-scale industry Dairy products

Cottage industry Furniture

Animal-based industry Stone carving

Forest-based industry Smelting crust

Mineral-based industry Cement

Give geographical reasons: 12
Why is Antarctica a human void zone?

Why is Africa known as the ‘Plateau Continent’?

Why upper part of the thermosphere is known as ionosphere?

Why chlorofluorocarbons and bromofluorocarbons are called greenhouse
gases?

Why are textile manufacturing centres concentrated only in a few nations?
Why is Europe referred to as the ‘Peninsula of Peninsulas’?

State whether true or false: 7
The South Pole is located at the centre of Antarctica ()
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The Darling River is the longest river in Australia ( )

Russia lies partly in Europe and partly in Asia( )

What is the electricity generation capacity of Jhakra Power House( )

All intellectual & cultural activities are quaternary economic activities( )

A rock once disintegrated is further eroded by forces of nature like water, heat
from sunlight and wind( )

Use of solar energy increases global warming ( )

Tick the correct option: 7
Which water body borders Africa to the north?

a. Red sea b. Gulf of Agaba  c. Mediterranean Sea d. All
How many parties were involved in the Antarctica Treaty by 2016?

a. 12 b. 43 c. 53 d. 25

Which basin is located in the Carpentaria Lowlands?

a. The Great Artesian Basin c. The Murray-Darling Basin

b. The Lake Eyre Basin d. The copper River Basin

Which country is a part of the Balkan states?

a. Denmark b. Greece c. Belgium d. Portugal
What is the contribution of the automobile industry to India’s GDP?

a. 5% b.8% c.7.1% d. 9.2%

Which of the following is an internal factor that causes weathering?

a. Rivers b. Tectonic movement c. Glaciers d. Winds
Which type of clouds is responsible for continuous rain or snow?

a. Nimbostratus b. Cumulus c. Circus d. Stratus
Answer the following: 22

What is Blizzard?

Name some high mountain peaks in Antarctica?

Describe the favourable geographical conditions for ‘Cocoa Land’?

What are the causes for the industrial pollution?

What is the significance of the fishing industry? Explain the distribution of
fishing industry in India and the world?

What is the purpose is solar power used?

Why is tourism well-developed in Switzerland?

Why are rivers important for Europe?

What are sheep stations and how are they maintained? Explain the process of
sheep rearing?

10.Explain about the Sahara Desert?
11.What is Aurora Australis?

Picture study: 5
1. Name the country?

2. Mark any two rivers?

3. Mark any two countries



IX. Draw a neatly labelled diagram of Wind vane: 3

X. Mark the places on the given outline map of India: 5
1. River Tapi 2. River Kaveri 3. River Ganga

4. River Brahmaputra 5. Indus River
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